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Note: You have four choices for each objective type question as A, B, C and D .The choice which you think is correct, fill that circle in
front of that question number. Use marker or pen to fill the circles, Cutting or filling two or more circles will result in zero mark in that
question. Attempt as many questions as given in objective type question paper and leave others blank. No credit will be awarded in case
BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER

Q.No.1 LAy

(1) A current of 3 A.pass_es thropgh 6 Q resistor then /,,)M,;q_hfﬁjgfmﬁbugyhgﬁg SN
voltage across this resistor will be:

A n Gl
@ 2V ®B) 9V (C) 18V D) 36V
(2) 1 milliampere is equal to : sl bl @
) 10° A B) 107 A (€)10% A D) 107A

(3)  If the current in a wire which is placed perpendicular to a BT 9 7D P S Sl S @
magnetic field increases, magnetic force on the wire: =
- WALl S i elenSas§

(A) Will Increase J£.%  (8) Will Decrease (f»¢ (C) Will remain the Same ks (D) Will be zero o
(4) From the give figure logical operation Lo gt (& cefioncLdes @

is performed by this gate. _
; A\
_
B > A= i
(A) AND (B) NOR " (C) NAND % (D) OR 1
(s) is the most suitable mean of teliable continuous gb‘zp L gkt e nEtimeil  (5)
communication between an orbiting Satéllite and Earth. o )
e 2
(A) Microwaves Jgs4.  (8) Radio waves js24, (C) Sound waves 93l (D) Any light wave yses’3s
(6) The brain of any computer system is: etk s ©
(A) Monitor #y (B) Memory $s% (© CPU.-4-f (D) Control Unit.sys &~
€ When a heavy nucleus splits into two lighter s Jf Uit F‘J' JJ?}:‘ L}{”uﬁ‘ fmLicz (D

nuclei; then process would:
(A) Release nuclear energy Jn@;ﬁ&)lﬁ”’f (B) Absorb nuclear energy Jn,dy&ﬂ/rﬂ_’
(C) Release Chemical energy Jn63/6< (D) Absorb Chemical energy (s ie GHSE

g) The relation between V,fand 1 of a wave is given by: e H—’%‘j‘; e nL By sk bl (®

@ Vi= 4 B) fi=V © VA=f ®) V=i/f

(9) Sound is form of energy : i I,JJL; > e (9)
(A) Electrical 41 (8 Mechanical £¢  (0) Thermal J.7 (D) Chemical J<

(10) type of image is formed by convex lens on a screen. bt g;gr’ L F AT (10)
(o) Inverted and real .5 (B) Inverted and virtual f g
(©  Upright and real (Fuus(f s (D) Upright and virtual J gssmi 4

(11) The refractive index of water is :q_bf;ﬁl)".{};ﬁ'z}l‘ (1)

(A) 1.33 (B) 1.02 © 131 (D) 1.52

(12) The value of K in Coulomb’s Law is: el R LA (12)

() 9x10°Nm*C? @) 9x10°Nm?C? (©) 9x10°Nm?C™ (D) 9x10° Nm? C?
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NOTE: - Write same question number _q.a»¢4.441r,615£ Zv,;m;sz»l/.)dirtﬁ;ngtz i

and its part number on answer book, as given in the question paper.
SECTION- sl

2. Attempt any five parts. 10=2x5 e linbhe S 24y

(i) What is meant by damped oscillations? ool el (i)

(i) Find the time period of a siinple pendulum 1.0 m long at g= 10 ms 2,.)5.;‘{(}"1-,@(’%’ s 4 »trf_ét-‘/fuf (i)
a Jocation where g=10 ms”

(i) What is the difference between the intensity and e I y,,z_’.(_r-?sjuﬂn_’r-“njjav (iif)

loudness of sound?

(iv) Calculate the frequency of a sound wave of speed 340  _y 0.5 m 3‘% il 340 ms-‘| }_.-;J ::sv,,éﬁ{(}v d‘;‘:g )Jg,.‘civ (iv)
ms™! and wavelength 0.5 m.

(v) How is ultrasound used to locate underwater depths or ?ﬁ;_rukﬁd;;{w&l,g_bjsut.(&fd / &Ma_u&;w/'! (V)
is used for locating object lying deep on the ocean floor?

(vi) What is meant by the term e.m.f.? ?.:_;l/g‘; (e.m. t')w;‘ﬁr:}a! (vi)
(vii) In a circuit 2 ohm, 3 ohm and 6 ohm resistances are G G Sy SHad ks sl Besl 28kl (vil)
connected in parallel to a battery of voltage 6. Calculate B Z: f’l# udﬂ/tf __&, g 2y ,sg
the equivalent resistance of the circuit.
(viii) Describe Joule's Law and write its equation. S S8 6 7 i
3- Attempt any five parts. 10=2x5 g{{ﬂtffél?léta-ljf «-3/ d'!'
()  State Laws of Reflection of light. éuwué W& 0
(i} Differentiate between concave mirror and convex mittor. BV ). sl (ii)
(i)  Define powr of lenses and write its unit. -J/{ﬁ..fxb’u sl S PSR Tl (i)
(iv)  Whatis meant by electric field lines? S B ()
(v)  What is the difference between fixed capacitor/and variable capacitor? ‘%m:.- ;.J/l/u" }'3": “‘(5{’1" x ey v)
(vi)  What is the difference between data and information? 9. 4-0/ YESBLIES (Vi)
(vii)  Differentiate between primary memory and secondary memory. u..f: wkd Md»" dm‘;»fd;f g4 L; (vii)
(viii) Define data managing J_ﬁ‘:’.fld (viii)
4- Attempt any five parts. 10=2x5 -é{/ugi.?f_f? ga.Jf -4 dir
()  Define Electromagnetism. u-"/’U, fb?/d' (')
(i)  State principle ofA\C. Generator. ~uw uf(/ (i)
(ify ~ What is' meantby thermionic emission? °:'—- ) /'lfc- by / (_'")
(iv)  What'isElectron Gun? ¢,Lf w g (iv)
(v)  Write the names of Logic operations. éftcﬁ /.' /1:..5 U ('“")
(vi)  Define Half Life. 1 -dﬂ-: (vi)
(vii}  What is meant by Carbon Dating? ‘ feslpi Yo Jj’—’i/ s ( (V")
(viii) Define penetrating power of Radition ...v fd:’!t .fv)d Lf' =18k (vii)
SECTION-Il (3.2
NOTE: - Attempt any two questions. -ég/...,wé...mma_df -
5.(A) Whatis wave velocity? Derive it. -] ;ylg,.ﬁ' 3 /kfc_.‘ﬂhgs (.5
(B) The power of a convex lens is 5 D, At what distance Jﬂ,ld&f .;_lf!f;{.bﬁz.t(f 5 H.{..SDJJ&J}J ;/r r(».f (<)
the object should be placed from the lens so thatits g %ﬂé‘dﬁbﬁ:«:—u—w‘u

real and two times larger image is formed?

6.(A) Explain Coulomb's law of electrostatics, Also write 4 Jyﬂﬁébﬁrdlﬁ-éyh!JU)WLJ@’/ﬂ"’:v); (-6

its mathematical form.

(8) Ifacurrentof 0.5 A passes through a bulb connected  0,5A J£££20 _,ﬁ-..l;ﬂ?ibLJ)’JBV Se Ll (L)
across a battery of 6 V for 20 seconds. Find the rate J’JJJ#}&-#{'PO;JL;IId"l-“(P’(r‘&-‘f—Lfo
o

of energy transferred to the bulb. Also find the

resistance of the bulb. £
7.(A) Whatis an electronic mail? Write its three 4 _é.'qmﬁgwq,ywj,,?: (N7
advantages. @ )
(B) Define nuclear fusion. Also explain it in detail, 5 -Qf()‘#ﬁ:;fdlﬂ-fjé.;{fué!ﬂwjﬁ/‘!ﬁ (..,)
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SECTION-1 sl .2

2. Attempt any five parts. 10=2x5 -“égfayfzﬁliiégc.tjfiﬁidir
(i) Define amplitude. Ay NP < I )
(i) What is meant by electromagnetic waves? el /_l/a..igs...@}g';}gl (i)
(iii) What is meant by loudness? Set el Gid)
(iv)’ What is meant by noise? el pifd A (i)
_ (v) Define intensity of sound. A AT W)
(vi) State Ohm’s law. Also write its formula. BE AT - S C))
(vii) Define resistance. Also write its unit. A i By P  Gid)
(viii) Define Electric Power. | s A S Gii)
3. Attempt any five parts. 10=2x5 . *54/‘;’&&(3&!2!6{4;.&[_3/:2&:'
(i) What is meant by regular reflection? St /Lf.—_ﬂ Y €))
(i) Define Principal axis. EAKR L @
(ili) What is endoscope? ?‘L.\_f‘,’.«;ﬁ'cl (iii)
(iv) Define electric field. E WS (v
(v) What is meant by capacitance? Sl et W
(vi) What is meant by hardware? Se sl e ih (Vi)
(vii) What is meant by flow of information? St P e g7 0 (vid)
(viii)* What is a fax machine? te gl U Giib)
4, Attempt any five parts. 10=2x5 -é";g,}.'plrfﬁﬁlmég:..(j/_ﬂl/:}g)lf
(i) What is meant by solenoid? tes ettty @
(ii) What is meant by relay? Ses el s G
(iii) What is meant by thermioni¢ emission? e eIk S GiD)
(iv) Differentiate between analogue and digital electronics. Lo S BT G
(v) Draw circuit.diagram of OR gate. e/ rfefor W)
(vi) What is meant by isotopes of an element? St e BT L")
(vil) Write.two characteristics of Gama rays. o e’ Gid)
(viii) Define penetrating power. LS BrE (i)
' SECTION —1II (23 &>
~ NOTE:~ Attempt any two questions. Ap= Ixd -g;f,;_ /’ .:,@sz_owr»a.(jf -y
*5. (a) Derive wave equation. “) _EianlaGy ()25
(b) An object and its image in a concave mirror are JKJ%:J@&K&:«.—Z{,ZO emierdf il ()
of the same height, yet inverted, when the object ¥ . ) g
is 20 cm from the mirror. What is the focal 3) Y PN -‘T—UJ'é'; A LG
length of the mirror?
6. (a) Explain any two hazards of static electricity. 4) s wolosfet B ML E i ()6

(b) The resistance of a conductor wire is 10 MQ. If ; s oy P <
a potential difference of 100 volt is applied across A £J|ﬁ+ oM QUi AH L ()

its ends, then find the value of current passing desSmiS e LI f) S 46 100V
through it in mA. ) ) g{r o o1
7. (a) How light signals are sent through optical fibre? ~ (4) s L sL AT SHC sz (LI).T
(b) Ashes from a campfire deep in a cave show carbon- LSy #0814~ M Ashes) Syt kLl (&)
14 activity of only one-eighth the activity of fresh ) - ’ o
wood. How long ago was that campfire made?  (5) LS b1 84
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